Solve for x:

a) log; (3x+1)+1log, (3x-1)=1 (Similar to #4 on Webwork assignment)
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b)) e +e =2 (Similar to #9 on Webwork)
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A population is growing exponentially. The population grows by 8.2% each year.
a) Find the continuous growth rate ‘r’ in the model equation N (¢) = N, Oe”.

b) Find the doubling time (i.e. the time in which the population size doubles).
c¢) The population was 6 million in 2018. What was the population in 2010?
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d) Instead of using a base-e (continuous) model, use the base-1.082 (yearly) model to
show that you get the same doubling time regardless.
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e) Starting with 6 million individuals in 2018, multiply by 1.082 each year to estimate
the doubling time and confirm the above answer.
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